Name: Addition within 10 (Sheet 1)

Corbettmotths
o primary

2+2=: 4+4::
1+6=: 5+3::
8+1=: 4+O::
2+6=( 7+3=(

1+ =5 [ )+4=10
[j+2=6 3+ - 8

Ben has 4 apples.
Tom gives him 5 more apples.
How many apples does Ben have now?

-



Name: Addition within 10 (Sheet 2)

Corbettmotths
o primary

1+1= : 5+5=:
2+4=: 7+2=:
5+o=: 3+4=:
9+1:: 2+5::

2+D:4 [:+7:10
[j+3:8 4+:]:7

Lily is 2 years old.
May is 5 years older than Lily.
How old is May?




Name:

3+3=

9+0-=

4 + 3 =

6+3=

Addition within 10 (Sheet 3)

CorbettmOtths
primary

[j+2:7

3+( ]

A dog has 4 legs.
A cat has 4 legs.
How many legs do they have in total?

-



Name: Addition within 10 (Sheet 1)
“ Cogtt)ﬂ?"trfgn(;cths

2+ 2= 4+4=|8

1+6-= 5+3=|8

8+1-= 4+0=|4

2+6= 7+3=|10

1+ -5 (6 ] +4=10

F2:6 3+(5 ] =8

Ben has 4 apples.

Tom gives him 5 more apples.

How many apples does Ben have now?

9]



Name:

1+1-=

2+ 4=

5+0-=

O+1-=

Addition within 10 (Sheet 2)

CorbettmOtths
o primary

)

5+5=110

/+2=|9

3+4: 7

2+H = 7

2+ =4

+3:8

(3)+7=10

4+@ =7

Lily is 2 years old.

May is 5 years older than Lily.

How old is May?



Name: Addition within 10 (Sheet 3)

CorbettmOtths
o primary

3+3=(6 2+2=(4
9+O=E 1+3=Z
403:(7) 14910
6’“’”2 6+2:Z

5+(5 ] =10 (4])+1=5
+2:7 3+Z]:9

A dog has 4 legs.
A cat has 4 legs.
How many legs do they have in total?
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